RESOLUTION OF THE TOHONO O'ODHAM COUNCIL (Revocation of Membership in Tohono O'Odham Nation)

RES. NO. 336-86

WHEREAS, Article II, Sec. 3 of the Constitution of the Tohono O'Odham Nation provides that membership in the Nation, and all rights deriving therefrom, shall be lost or relinquished if a person is or becomes enrolled as a member in another Indian nation, tribe, community or band; and WHEREAS, the Enrollment Committee has determined that the following person(s) who are enrolled as members of the Tohono O'Odham Nation are also enrolled as member(s) in another Indian nation, tribe, community or band, namely:

SHARI R. PERKINS - 1596-CK-83

Name Enrollment No.

WHEREAS, the Enrollment Committee did serve notice upon the foregoing person(s)

that they must either relinquish membership in such other Indian

nation, tribe, community or band, or relinquish or lose membership in

the Tohono O'Odham Nation in accordance with the provisions of Art. IX

Sec. 2 of the Enrollment Ordinance; and

WHEREAS, the foregoing person(s) did not relinquish membership in such other

Indian nation, tribe, community or band, and the Enrollment Committee

has therefore recommended that their membership in this Nation be revoked by this Council; and

WHEREAS, the Enrollment Committee did serve written notice of its recommendation upon the foregoing person(s) or, if a minor or incompetent, upon their parent(s), guardian or other person legally authorized to act on their behalf, as required by Art. IX, Sec. 2 of the Enrollment Ordinance, and this Council has reviewed the Committee's recommendation

and all evidence presented, and from such evidence finds that the foregoing persons are enrolled as members of this Nation and are also

enrolled as members of another Indian nation, tribe, community or band; that they were given an opportunity to relinquish membership in

such other nation, tribe, community or band as required by Art. II,

(Revocation of Membership in Tohono O'Odham Nation) Page Two (2) Sec. 3 of the Constitution of the Tohono O'Odham Nation but have 1 failed or refused to do so, and that their membership in the Tohono 2 O'Odham Nation must therefore be revoked. 3 4 NOW, THEREFORE, BE IT RESOLVED by the Tohono O'Odham Legislative Council that 5 it does hereby revoke the membership in this Nation of the foregoing 6persons) and that the Enrollment Committee serve notice of this de-7 termination in accordance with Art. IX, Sec. 2 of the Enrollment 8 Ordinance. 9 BE IT FURTHER RESOLVED that, upon completion of all appeals from this determi-10 nation or upon expiration of the time allowed for such appeals, as 11 12 provided in Art. IX, Sec. 2 of the Enrollment Ordinance, the names of 13 the foregoing persons who failed to appeal or to succeed in their 14 appeal shall be removed from the membership roll of the Tohono O'Odham 15 Nation. 16 The foregoing resolution was passed by the Tohono O'Odham Council on the 13th 17 day of June , 1986, at a meeting at which a quorum was present with a vote of 1167.0 for; 232.0 against; -0 not voting: and 241.0 absent, 18 pursuant to the powers vested in the Council by Section 1 (h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham 19 Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of 20 the Act of June 18, 1934 (48 Stat. 984). 21 TOHONO O'ODHAM LEGISLATIVE COUNCIL 22 23 24 20 day of June, 1986 25 26 ATTEST: 27 28Ophelia F. Campillo, Legislative 29 Secretary 30 20 th day of June . 1986. 31 32 Said Resolution was submitted for approval to the Office of the Chairman of the Tohono O'Odham Nation on the 20 day of Tune, 1986,

RES. NO. 336-86

| | RES. NO. <u>336-86</u> (Revocation of Membership in Tohono O'Odham Nation) Page Three (3) |
|----------|--|
| 1 2 | |
| 3 | TOHONO O'ODHAM LEGISLATIVE COUNCIL |
| 4 | |
| 5 6 | For Harriet Toro, Legislative Chairperson |
| 7 | [\times] APPROVED) on the ≥ 4 day of \sqrt{anc} , 1986 |
| 8 | [] DISAPPROVED) at 2.53 o'clock, P.M. |
| 9 | t i stem the second to the sec |
| 10 | JOSTAH MOORE, Chairman |
| 11 12 | TOHONO O'ODHAM NATION |
| 13 | Returned to Legislative Secretary on the |
| 14 | at <u>8:37</u> o'clock, <u>A</u> .M. |
| 15 | |
| 16 17 | Ophelia F. Campillo, Legislative |
| 18 | Secretary |
| 19 | |
| 20 | |
| 21 | |
| 22 | |
| 23 | |
| 24 | |
| 25 | |
| 26 | |
| 27 | |
| 28 | |
| 29 30 | |
| 31 | |
| 32 | |
| | |

| MOVED: | | SUBJE | CT: ENRO | LLMENT COMM | ITTEE'S REC | COMMENDA- | |
|------------------------------|--|---------------|------------|--|---------------|-----------|--|
| SECOND: | | • | | : ENROLLMENT COMMITTEE'S RECOMMENDA- TION FOR DISENROLLMENT IN THE TOHONO O'ODHAM NATION | | | |
| DATE:IUN | F 13, 1986 | | RESO | RESOLUTION OR ORDINANCE #336-8 | | | |
| DISTRICTS | REPRESENTATIVES | # OF VOTES | FOR | AGAINST | NOT VOTING | ABSEN | |
| SIF OIDAK | 1. Elliott Lewis | 69.0 | Х | | | | |
| 138 | (Eugene F. Jose) 2. Nicklos Jose (Letitia Garcia) | 69.0 | Х | | | | |
| SELLS | 1. Andrew M. Patricio | 128.5 | Х | | | | |
| 2 57 | (Nora Alvarez) 2. Fred Stevens (Dennis E. Jose) | 128.5 | X . | | / | | |
| SCHUK TOAK | 1. Joseph Juan | 52.5 | Х | | | Х | |
| 105 | 2. Julie Carrillo (Jo Ann Francisco) | 52.5 | X | | | | |
| SAN XAVIER 1. Austin Nunez | | 63.0 | X | | | | |
| 126 | (Yvonne Corella) 2. Tony Felix (Carmelita Mattias) | 63.0 | | X | | | |
| BABOQUIVARI | 1. Joann Garcia | 120.5 | | | | Х | |
| 241 | (Edward N.Kisto) 2. Kenneth Chico, Sr. (Frances Miguel) | 120.5 | | | | X | |
| GU ACHI | 1. Angelo J. Joaquin,S | r, 79.0 | X | | | | |
| 158 | (Jonas R. Robles) 2. Fernando Joaquin (Fred Adams, Jr.) | 79.0 | X | | | | |
| PISINEMO 1. Jerome Artone | | 58.0 | X | | | <u> </u> | |
| 1 16 | (Gonnie Mendoza) 2. Johnson Jose (Edward D. Manuel) | 58.0 | Х . | | | • | |
| SAN LUCY | 1. John Reno | 42.5 | Х | | | · | |
| 85 | 2. MAXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX | 42.5 | Х | | | | |
| GU VO | 1. Cross Antone (Fern E. Salcido) | 58.5 | X | | | | |
| 117 | 2. Virgil Lewis (Roy Montana) | 58.5 | X | | · . | | |
| HICKIWAN | <pre>1. Henry A. Ramon (Pablo Baptisto)</pre> | 64.0 | Х | | | | |
| 128 | 2. Lloyd Francisco (Eleanor Santos) | | Х | | | | |
| CHUKUT KUK 1. Rosemary Lopez | | 84.5 | | X | | | |
| 169 | (Anita C. Clark) 2. Harriet Toro (Marvin J.Thomas) | 84.5 | | . X | | • | |
| TOTALS | | 1640.0 | 1167:0 | 232.0 | -0- | 241.0 | |